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Note :  Unless otherwise required in a question, answers should be written either in Sanskrit or

in Hindi or in English.

feuuit : srgen sMEvEE 7 W R W TH-T W SW Gea sverar R rwan s e

TF e # N
All questions are compulsory.
it ol & SW afEd ¥

L (3) frafafed o=l & @ 9 ‘%' @9, 9 ‘"’ §q &@k um v ¥ T IR
% ¥y fafde faufm # fafeu . 342+1=6

Decline any three words from Part ‘%', two from Part ‘@’ and one from part ‘T’

in the given case-endings :

(F) W (v, fag (v=l), @@ (sgefd), am (v, = (fedan), s
(getam) |

(@) m(daﬁr),m(g%«h, WD), 99 (Wifem, wed), waq (S, gea) |
(M) & (Yfeem, Tget), i (Sifam, um)j

P.T.O.




| (2) - 252
(a)ﬁwf‘m*@amﬁﬁm"m'ﬁﬁw,w‘@’ﬁésﬁtm‘ﬂ;ﬁwqa
3 fasfi Td g9 WA : ) | 3+2+1=6
Indicate the case endings and number; of any three words from part ‘&', two from
part ‘@' and one from part ‘7’ of the following :
(%) T, W, W, S,
() s, 7, 7,
(m THEH, SO |
2. (E)ﬁﬁﬁf@ﬁﬁ'@fﬁ@: a@aﬁ%ﬁrﬁ“gm@wﬁmm : 1x6=6
‘Conjugate any six. bf the following verbal roots in the given Lakéra and Purusa : -
| ) T, ST T*H
(@) g-fafufere, wem u

(i) T, T T
() T, Yo

») TwE, T T
(i) G, T
(vii) FE—T, T TN

 (vili) e, ST TEWI




o - (3) 252
(@) Prefofen v § A frdl ©: framedl § g, o9 T a9 WA 1x6=6
Indicate the root purusa and number in any six of the following verbal forms :
Y3, - AT, FE, W, Jaafa, wofa, deafa, veafa) |
(%) 7 WEm 7% sivafeme v § @ fed A A whu-fredk i

1x3=3
Disjoin any three of thevunderlined words in Q. No. 7.
(@) Fretfafan o=l # Q frt @ § wfy Fif 1x3=3
Join any three .of the followiﬂg words :
3+ @, %@ + wf:, g+ 3\, &+ o, R+ oo, o+ g

frafafen § ¥ <t oe 9l § o= saEd . | 5x1=5
Identify the voice (‘eﬂﬁ) in any five of the following : |

(1) 5 w3 fafeaq)

(2) T T T |

(3) TSW: Td Qj‘ﬂﬁﬁn.

@) & fe=for geafa)

(5) % T vaIfh

(6) W gy faafa

(7) < faser werafs |

P.T.O.




(4)
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5. (%) Pt § & frdi W Yaifema v A fofe w1 AR TR axi=4

Account for the case-endings in any four of the following underlined words :

(v) T T S ST
(@) frdt @ o éﬁ IS HT
Correct any three of the following sentences :
() BEAE: W T
(i) TR -m:
(ii) fqﬁﬁq =l
(iv) Te= fammed wT=sfa
) SRﬁAaﬁEﬂgFWHL
6. Trafafed =i # @ <l a) vk ®1 S d wA HiNY
cénstfuct sentences using any four of the following words :

T, IfeT, aaj'q&n; TEM, goIfer, HEI, I9Ea: |

3x1=3

4x2=8
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7. (%) FreAfafed mwh # ¥ 6 & #1 oaR ity 2x4Y4=9

Translate any fwo paragraphs from the following :

(@)

(i)

(i)

iR e A S wieafs w1 T gaesE) e
TR Tepelt TRt TR T | 19 YAaHeN SRFTATHN oo WIGHIS RTee e i
i | W 7 fasafafa ag  weifery iR vaTie TR fregamatsatd |
3 @y wfe @t

Y 9 G e HiEG T S | Asfy arehdfiafaar e Ry Far
T ThE Y gaavsEgE dien w1 T fafesa wfveddied ag—
" faeafa’’ | TagEen siee ot T oqw fdea wuee:
T | M—“m a1 fomge” ) 9 9 O H
T: |

ﬁsﬁgwwammmgmmwﬁn
AY d QeSS W %Wm—“a@ | Sefaen arfeer

TI=ATOER 1 | TAHATssa®qn  ua@d  ufaesgq gy

frfsacaigefiymadsats @@= a9 weAiH) AIs=Eer Wy

Stifaaeamfa |

P.T.O.




(6 ) - Y
| (@)ﬁﬂ%@aﬁﬁwaﬁmﬁmm : 2x4=8
" Explain with re-ferencev to the context any two of the following : |
| 0) Qﬂasﬁa aﬁﬁfmnwaﬁwn
- 7 o< fe w9 faﬁf%réﬂw qeud |
(i) aaaﬁvﬁé@:wﬁaﬁwu |
st wfaeranry gfedfena w_n
i) ¥: W wfegssft o Wﬂaaﬁm.n
T ﬁwﬁﬂﬁ’r%ﬁa ﬁaﬁé afan
(n)ﬁwﬁfﬁwmaﬁwwfﬂzuﬁ%d@mﬁmaﬁm; 2x4=8
Read the following prose tegt and answer the questions in Sanskrif :
efefiafirert T R T f T e W A =
WER T a@:—“e?ﬁ | fufird iﬁmn T TM: HAfAeA 3fa T Ry
WW@W@W'M:I @ﬁmmsﬁm:l GE|
|
() S WER R w2 :

) 5 % e S W 2
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(7))
(iii)  STRIOTGSTVTE : *: 'asf:r ?
(i&) 3 TN HE: HUEL Iya: @ ?
areran
- O
TEufigqsen &1 9r ﬁrwvﬂ%ﬁvfﬁf@m

Write the summary and the moral of FEUfUSaH.
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